Counts

HeePCoin Setting
Beam Energy = 5.984804
HMS_p =-3.271
HMS_theta = 29.17
SHMS_p =3.493
SHMS_theta = 27.495

Momentum_z Distribution

40

35

SIMC (Red)
DATA (Blue)
MEAN = 8.7808e-03:7.5207e-05|

MEAN = -4.7787-0322.0720e 0

pmiss_z

Counts

Counts

Momentum_x Distribution

= SIMC (Red)
25 —— DATA (Blue)
—— MEAN = 1583260341, 0389 04
—— MEAN = -3.18260.03:3.10186.0
20
15
10 - "
-
s J
T, f
90 1 -0.05 o 0.05 0.
pmiss_x
Energy Distribution
= SIMC (Red)
= DATA (Blue)
50 = MEAN = -8.4441€-03+5.2690e-0:
—— WEAN - 51560341, 1547.05
40
30
20 -
-
- n
10 - -
90 = -0.04  -0.02 [ 0.02 0.04 0.06 0.08

emiss

Counts

Counts

Momentum_y Distribution

—— SIVC (Red)
——— DATA (Blug)
——— MEAN = 1.4140¢-03+7.6423¢.05]

MEAN = 0.8831e-053.1569-05|

W Distribution

°F —— Swc®en)
E —— OATA®lE)

60— =—— MEAN = 9.4184e-01:9.4432e-05
E ——— VEAN = 0.43096-01:5.5667e.05

50—




Counts

300

250]

HeePCoin Setting
Beam Energy = 6.394701
HMS_p =-4.752
HMS_theta = 18.595
SHMS_p =2.412
SHMS_theta = 37.97

Momentum_z Distribution

SIMC (Red)
DATA (Blue)
MEAN = 1.2654e-02:8.8467¢-05|

MEAN = -4.6909¢-03:2.8708e-0

pmiss_z

Counts

Counts

Momentum_x Distribution

220

180

160

140

120

100

SIMC (Red)
DATA (Blue)
MEAN = 6.9179¢.03:7.61526-05|

MEAN = -3.3962¢-03+3.4441e-0

-
-
“- =
-
- ®
1 1"“‘nu.|. 1
=0.05 0 005

0.
pmiss_x

Energy Distribution

450

400

350

SIMC (Red)
DATA (Blue)
MEAN = -1.3559¢.02:9.55656-0:

MEAN = 5.3221e-03+1.24766-05

emiss

Counts

Counts

Momentum_y Distribution

250

200

50|

SIMC (Red)
DATA (Blve)
MEA!

5683¢.03:9.75186-0¢

3401e-0423.2567e-05}

0.
pmiss_y

W Distribution

SIMC (Red)
DATA (Blue)
MEAN = 9.34516-01+6.8093¢-05,

MEAN = 0.43816-01+4.76726-05




Counts

Momentum_x Distribution Momentum_y Distribution

HeePCoin Setting £ w0 E— ¢ —svere
2 —— DATA (Blue) S = DATA (Blue)
Beam Energy = 6.394701 ° VAN - 2222000359 9515005 © —— NEN= 7212200881 0740
HMS_p =-4.391 8
HMS_theta = 21.095
SHMS_p =2.792
SHMS_theta = 34.475
1 1
0.05 0.
pmiss_x pmiss_y
Momentum_z Distribution Energy Distribution W Distribution
160 E—re £ — sweren ¢ ey
— oA g — oaTAGue H —— oATA e
8 8
140 ——— MEAN = 1.0318e-02+1.2133¢-04| 200 ——— MEAN = -1.0221e-02+1.2862e-04] ——— MEAN = 9.3854e-01+1.1813e-04
160
140
120
100
80 =
E -~
L 1 st Il
90 = -0.04 -0.02 0 0.02 0.04 0.06 0.08 0. 0. 0.8 0.9 12 13 1

pmiss_2 emiss w



Counts

10|

HeePCoin Setting
Beam Energy = 6.394701
HMS_p =-3.014
HMS_theta = 33.35
SHMS_p =4.22
SHMS_theta = 23.115

Momentum_z Distribution

—— SIMC (Red)
——— DATA (Blue)
——— MEAN = 8.93410-03+1.6793¢.04

MEAN = -4.7283¢-0322.1897e.0

pmiss_z

Counts

Counts

Momentum_x Distribution

SIMC (Red)
DATA (Blue)
MEAN = -3.9956¢-03+1.7187¢.04

7

MEAN = -2.8585¢-03+3.3688¢-0

6
5
4
3
2
1
- r. PO f
90 1 -0.05 0.0 0.
pmiss_x
Energy Distribution
16 = SIMC (Red)
= DATA (Blue)
14 = MEAN = -6.6188e-03:2.1740e-04]
—— MEAN - 5.3454e-034117416.05
12
10
8
. -

iy aae =004 -0.02 0 002 004 006 008

emiss

Counts

Counts

Momentum_y Distribution

®

o

—— SIVC (Red)
——— DATA (Blug)
——— MEAN = -4.0493¢.041.7167-0:

MEAN = 4.3015¢-043.2618¢-05|

pmiss_y

W Distribution

SIMC (Red)
DATA (Blue)
MEAN = 9.48116-01+1. 9672604

MEAN = 0.45116-01+5.0184¢-05

-
"
L] e
Lot | e e o ke
o. 0.8 0.9 1 11 12 13 14
w



Counts

o N o

o

HeePCoin Setting
Beam Energy = 7.937573
HMS_p =-3.283
HMS_theta = 33.64
SHMS_p =5.512
SHMS_theta = 19.27

Momentum_z Distribution

—— SIMC (Red)
——— DATA (Blue)
——— MEAN = 14273-02+1.5868¢.04|

MEAN = -4.8578¢-03:2.3237e 0

1 1 1
1 -008 -006 -004 -0.02 0 002 004 006 008 O

pmiss_z

Counts

Counts

Momentum_x Distribution

SIMC (Red)
DATA (Blue)
MEAN = -6.4078¢-03+2.0870e.04

MEAN = -2.7740e-03+3.8253¢-0

0.
pmiss_x

Energy Distribution

—— SINC (Red)
——— DATA (Blue)
——— MEAN = -1.3136¢-02+1.5629¢-04

MEAN = 5.3808e-03+1.3621e-05

emiss

Counts

Counts

Momentum_y Distribution

SIMC (Red)
DATA (Blve)
MEAN = -6.52886-04+1.47750.0:

MEAN = 5.1609e-0423.0716e-05|

-0.05 0 0.05 0
pmiss_y

—— svC (Red)
—— DATA(Blug)
——— MEAN = 0.4867¢.01+3.24066-04
——— MEAN = 0.4501.01+7.93226.05
L]
L]
L] -
-
= -hn-__
TR, | | I >
0.8 0.9 1 11 12 13 14



Counts

30|

25

HeePCoin Setting
Beam Energy = 8.478619
HMS_p = -5.587
HMS_theta = 19.56
SHMS_p =3.731
SHMS_theta = 30.02

Momentum_z Distribution

SIMC (Red)
DATA (Blue)
MEAN = 1.6023¢-02+2.3536¢-04

MEAN = 5.1074¢-03:2.3014e 0

pmiss_z

Counts

Counts

Momentum_x Distribution

SIMC (Red)
DATA (Blue)
MEAN = 2.8436¢.03+1.7861e-04

MEAN = -3.3033¢-0324.5915e-0

1“"‘-‘-4,» !

nil
90 1 -0.05 0.05 0.
pmiss_x
Energy Distribution
45 —— SIMC (Red)
= DATA (Blue)
40 = MEAN = -1.4917¢-02+3.0781e-04}

MEAN = 5.4018e-03+1 5108e-05

emiss

Counts

Counts

Momentum_y Distribution

25—

SIMC (Red)
DATA (Blve)
MEA!

8570¢.03:2.4108¢.04f

808%e-044.0292-05|

pmiss_y

W Distribution

SIMC (Red)
DATA (Blue)
MEAN = 0.3925¢-01+2.2724e-04

MEAN = 0.45116-01+7.2493¢-05

-
L]
0.9 T 1T 12 13 14



Counts

HeePCoin Setting
Beam Energy =9.171305
HMS_p =-3.738
HMS_theta = 31.645
SHMS_p = 6.265
SHMS_theta = 18.125

Momentum_z Distribution

SIMC (Red)
DATA (Blue)

MEAN = 2.5902¢.02:2.0151e-04

MEAN = 5.0202¢-03:2.52298 0

pmiss_z

Counts

Counts

Momentum_x Distribution

o —— SINC (Red)

E —— oATAGIe)

E VAN = 4 47050.03:3.3557¢ 04
osf —— = 207e00ss st
o5
04
03 F
02 %

. ..J .
S P -
g 0.05

0.
pmiss_x

Energy Distribution

14 —— SINC (Red)
—— DATA (Blue)

12 —— VEAN = -2.6947e-02+1.6409-04
——— VEAN = 5.4730€.03£16504e-05

emiss

Counts

Counts

Momentum_y Distribution

SIMC (Red)
DATA (Blve)
MEAN = 8.7934e-042.0632¢.04|

MEAN = 5.9102¢-0423.5577-05|

005 05
pmiss_y
W Distribution

o = SIMC (Red)

= DATA (Blue)

——— MEAN = 9.38796-01:4.518%-04
r ——— MEAN = 9.46486-0121.0050¢-04
- Lol ]
[ L]




Counts

HeePCoin Setting
Beam Energy = 9.876908

HMS_p = -5.366
HMS_theta = 23.0
SHMS_p =5.422

5

SHMS_theta = 23.05

Momentum_z Distribution

SIMC (Red)
DATA (Blue)
MEAN = 2.77386.02:2.0228¢-04

MEAN = 5.2639¢-0322.2009e 0

pmiss_z

Counts

Counts

Momentum_x Distribution

r —— SINC (Req)
25 —— DATA (Blue)
E ——— MEAN = 3.4544¢.03+2 9838e-04
F ——— VEAN = 2.02546-03+5 44430
2
15 -
-

e

Energy Distribution

0.
pmiss_x

5 J—

SIMC (Red)
DATA (Blue)
MEAN = -3.0037e-02:2.1280¢-04)

MEAN = 5 46126031 8862¢-05

emiss

Counts

Counts

Momentum_y Distribution

SIMC (Red)
DATA (Blve)

MEAN = -0.7266¢-05+2.3280¢-04

MEAN = 3.9541¢-0424.2560¢-05|

W Distribution

pmiss_y

SIMC (Red)
DATA (Blue)

MEAN = 0.32296-01+3.7644¢-04

MEAN = 0.4561e-01+1.1369€-04




Counts

HeePCoin Setting
Beam Energy = 10.546755
HMS_p =-5.878
21.655

HMS_theta =
SHMS_p =

5.53

SHMS_theta = 23.11

Momentum_z Distribution

SIMC (Red)
DATA (Blue)
MEAN = 1.67626.02+5.6236¢-04

MEAN = -5.3870¢-0322.4105e 0

pmiss_z

Counts

Counts

Momentum_x Distribution

—— SINC (Red)
—— DATA (Blue)
——— MEAN = -7.6827-03:3.2735¢.04

MEAN = -3.0564¢-0325.3570e-0

pmiss_x

Energy Distribution

5
—— SIMC (Red)
——— DATA (Blue)
——— MEAN = -1.2099.02:4.6326¢-04)
4 ——— MEAN =55114e.03+1 9855€-05
3
2 -

QB8 006 004 00 0 002 004 006 008

emiss

Counts

Counts

Momentum_y Distribution

SIMC (Red)
DATA (Blve)
MEAN = 1.9658¢.0325.1395¢.04|

MEAN = 3.5758¢-0424.5869-05|

W Distribution

pmiss_y

SIMC (Red)
DATA (Blue)
MEAN = 9.6085¢-01+4.87306-04

MEAN = 0.4551¢-01+1.3149e-04




